10 by 5 Tenner Grid Puzzles

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

4 0 9 8 5
1|6 3 8

215 7 116904
2 9 3 6
5123|1259 |25(23 15|24 |8 |23

4 7 216 9
215 8 4
0 115]7)8
9 4 312,011
22117120123/ 14|26 6 |10|19|23

23|68 911

4 |7 9

6|0 8|3 7 9
81 311[9]6]5 2
200 131725/ 19| 17| 15| 8 |22|24
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Answers

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

31460719 /2/8]1]5
0/7/9/1/6/5|4/3 |28
215/81713/1/6|9]0 |4
017 /2/1]/9(8 34516
5123(25]9 (2523|1524 |8 |23
413 718/2/6/0[1]5]9
7/215/9/1/8/3[4/6/0
413026191578
7,9(8/4/5/3[2]0/|16
22117/20/23114/26| 6 | 10|19 23
20368014 9[1]7]5
417/2/5/9/1/0/6/]3]|8
610/ 8/3/4/7/2/1/5/9
813/ 1/9/6|5/ 40|72
20 13117|25/19/17 /15| 8 | 22|24
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